
ISOSPAN Baustoffwerk GmbH 

 

 

 

 

 

 

ENVIRONMENTAL PRODUCT DECLARATION 

 

Wood-chip concrete shuttering blocks  

 

PLANT Ramingstein/Austria 

in compliance with ISO 14025 and EN 15804 

 

 

 

 

 

 

 

 

Program Operator BAU EPD GmbH 

Publisher EPDItaly 

  

Declaration Number EPD-ISOSPAN-2017-4-Ecoinvent 

Registration Number EPDITALY0023 

  

Issue Date 01/05/2017 

Valid to 01/05/2022 

Registered under the mutual recognition between EPDItaly and BAU EPD GmbH.  

www.epditaly.it 



Page 2 of 49 

General information 

Product name 
ISOSPAN N 15 
ISOSPAN N 18 
ISOSPAN N 20 
ISOSPAN N 22 
ISOSPAN N 25 
ISOSPAN I 25 
ISOSPAN I 30 
ISOSPAN TW 30 

Declared product / declared unit 
Wood-chip concrete shuttering blocks for use as inner and outer walls. 
The product is manufactured from wood-chips, cement and water and 
is filled with concrete at the building site. The surface weight of the 
finished wall ranges from 213 kg/m² to 487 kg/m², the thermal 
conductivity is, depending on the model, between 0.263 W/mK and 
0.370 W/mK. 
One square metre of wall (m²) has been determined as the functional 
unit. 
 
Range of validity 
The life cycle inventory analysis data are representative of all of the 
wood-chip concrete shuttering blocks without insulation produced by 
ISOSPAN Baustoffwerk GmbH in 2015 at the Ramingstein production 
site. 
 
The owner of the declaration is liable for the underlying information 
and evidence; Bau EPD GmbH is not liable with respect to 
manufacturer information, life cycle assessment data and evidence. 

Declaration number 
EPD-ISOSPAN-2017-4-ECOINVENT 
 

Declaration data 
     Specific data  
     Average data 

 

Declaration based on: 
 
PCR Prefabricated concrete products 
 
PCR code: 2.17.1 
Version 16.05.2016 
 (PCR tested and approved by the independent 
expert committee = PKR-Gremium) 

Type of declaration as per OENORM EN 15804 
From cradle to grave 

Database, software, version 
Ecoinvent v.2.2, SimaPro 8 

Author of the life cycle assessment 
 
Markus Wurm/Philipp Boogman 
IBO Österreichisches Institut 
für Bauen und Ökologie GmbH 
Alserbachstraße 5, 1090 Vienna 
Austria  
http://www.ibo.at 

The European standard EN 15804 serves as the core PCR. 
 
Independent verification of the declaration according to EN ISO 

14025:2010 

     internally                        externally 

 
Verifier 1: DI Dr. sc ETHZ Florian Gschösser, UIBK Innsbruck  
Verifier 2:  DI Hanna Schreiber, Umweltbundesamt GmbH, Vienna 

Owner of the declaration 
 
ISOSPAN Baustoffwerk GmbH 
Madling 177 
5591 Ramingstein 
Austria 
http://www.isospan.eu 

Publisher and programme operator 
 
Bau EPD GmbH 
Seidengasse 13/3 
1070 Vienna 
Austria  
http://www.bau-epd.at 

 

 

 

 

 

 

DI (FH) DI DI Sarah Richter DI Roman Smutny 

Managing director Bau EPD GmbH Vice chairperson of expert committee (PKR-Gremium) 

 

 

 

  

 

DI Hanna Schreiber DI Dr. sc ETHZ Florian Gschösser 

Umweltbundesamt GmbH, Vienna University of Innsbruck 

 

Information: 

EPDs from similar product groups from different programmes might not be comparable.   



Page 3 of 49 

 

Index 
 

General information ................................................................................................................................................................... 2 

1 Product / system description ............................................................................................................................................. 4 

1.1 General product description ......................................................................................................................................... 4 

1.2 Product-related standards, regulations and guidelines ................................................................................................ 4 

1.3 Areas of application ...................................................................................................................................................... 4 

1.4 Technical data............................................................................................................................................................... 5 

1.5 Conditions of delivery ................................................................................................................................................... 5 

2 Description of life cycle ...................................................................................................................................................... 6 

2.1 Base materials (main components and auxiliary materials) ......................................................................................... 6 

2.2 Production .................................................................................................................................................................... 6 

2.3 Packaging ...................................................................................................................................................................... 6 

2.4 Transport ...................................................................................................................................................................... 6 

2.5 Processing and installation ........................................................................................................................................... 6 

2.6 Use stage ...................................................................................................................................................................... 7 

2.7 End-of-life stage ........................................................................................................................................................... 7 

3 Life cycle assessment.......................................................................................................................................................... 8 

3.1 Methodological assumptions ....................................................................................................................................... 8 

3.2 Information on the life cycle for the assessment ......................................................................................................... 9 

3.3 Declaration of environmental indicators .................................................................................................................... 12 

3.4 Interpretation of the LCA results ................................................................................................................................ 23 

4 Dangerous substances and emissions into indoor air and environment .......................................................................... 47 

4.1 Declaration of substances of very high concern ......................................................................................................... 47 

4.2 Formaldehyde emissions ............................................................................................................................................ 47 

4.3 Radioactivity ............................................................................................................................................................... 47 

4.4 Leaching ...................................................................................................................................................................... 47 

5 References ........................................................................................................................................................................ 48 

 

  





Page 5 of 49 

1.4 Technical data  

The following table contains structural/technical data relevant for the normal blocks without insulation. 

Table 1: Technical data 

Description  N 15 N 18 N 20 N 22 Unit 

Block dimensions: 
Width 
Height 
Length 

 
0.15 
0.25 
1.10 

 
0.18 
0.25 
1.25 

 
0.20 
0.25 
1.25 

 
0.22 
0.25 
1.00 

 
m 
m 
m 

Thermal conductivity 0.263 0.290 0.282 0.301 W/mK 

Water vapour diffusion resistance - - - - - 

Bulk density (concrete block) 550 550 550 550 kg/m³ 

Tensile strength > 0.15 > 0.15 > 0.15 > 0.15 N/mm² 

Dry bulk density (oven-dried) 550 550 550 550 kg/m³ 

Weighted sound reduction index Rw 52 55 56 57 dB 

Description  N 25 I 25 I30 TW 30 Unit 

Block dimensions: 
Width 
Height 
Length 

 
0.25 
0.25 
1.25 

 
0.25 
0.25 
1.25 

 
0.30 
0.25 
1.25 

 
0.30 
0.25 
1.25 

 
m 
m 
m 

Thermal conductivity 0.281 0.352 0.370 0.313 W/mK 

Water vapour diffusion resistance - - - - - 

Bulk density (concrete block) 550 550 550 550 kg/m³ 

Tensile strength > 0.15 > 0.15 > 0.15 > 0.15 N/mm² 

Dry bulk density (oven-dried) 550 550 550 550 kg/m³ 

Weighted sound reduction index Rw 59 60 62 61 dB 

 

1.5 Conditions of delivery 

The products are delivered without pallets, but in the dimensions of a Europool pallet. The goods are stored without 

packaging in the open air until delivery. 

 



Page 6 of 49 

2 Description of life cycle 

 

2.1 Base materials (main components and auxiliary materials) 

Table 2: Base materials of the examined products 

Components of wood concrete:  kg/kg  

Wood-chips 0.530 

Cement 0.445 

Water 0.025 

Components of wood-chip concrete 
shuttering blocks:  

N 15 N 18 N 20 N22 

 kg/m²  kg/m²  kg/m²  kg/m²  

Wood concrete 59.0 49.0 62.2 60.8 

Components of wood-chip concrete 
shuttering blocks:  

N 25 I 25 I 30 TW 30 

 kg/m²  kg/m²  kg/m²  kg/m²  

Wood concrete 78.0 77.8 82.2 105.4 

Table 3: Further components for 1 m² of wall (declared unit) 

Components of wall:  N 15 N 18 N 20 N 22 

 kg/m²  kg/m²  kg/m²  kg/m²  

Wood-chip concrete shuttering blocks 59.0 49.0 62.2 60.8 

Filling concrete * 154 220 228.8 266.2 

Reinforcing steel * 0.3 0.3 0.3 0.3 

Components of wall:  N 25 I 25 I 30 TW 30 

 kg/m²  kg/m²  kg/m²  kg/m²  

Wood-chip concrete shuttering blocks 78.0 77.8 82.2 105.4 

Filling concrete * 286 321.2 404.8 336.6 

Reinforcing steel * 0.3 0.3 0.3 0.3 

*The reinforcing steel and filling concrete are inserted in the wall on the building site and are therefore taken into 

consideration in construction stage A5 

 

2.2 Production  

The wood-chip concrete is produced at the plant in Ramingstein. Here wood-chips, cement and water are mixed and filled 

into moulding boxes. Then the blocks harden in the air and are milled to the same height. 

2.3 Packaging 

The hardened blocks are stored without packaging in the open air. 

2.4 Transport 

The wood-chip concrete shuttering blocks are transported from the manufacturing plant to the customer by truck. The 

average transport distance is 145 km. 

2.5 Processing and installation 

The mantle blocks are placed next to each other and on top of each other without grout. It must be ensured that there is 

level ground and, if necessary, this must be created using levelling grout for the first set of blocks. Then the mantle blocks are 

filled with concrete and this is compacted using internal vibrators. Corresponding processing guidelines are provided by the 

manufacturer. 



Page 7 of 49 

2.6 Use stage 

2.6.1 Use condition 

With proper planning, correct and appropriate installation and disruption-free use there is no change in the material 

composition over the entire service life. 

2.6.2 Environment & health during use 

There are no known effects on the environment and health coming from the product. The result of the measurement to 

determine radioactivity is clearly below the limit stipulated in OENORM S 5200. 

2.6.3 Reference service life (RSL) 

The service life is the period of time from the installation of the product in the building up to disposal.  

Table 4: Reference service life for wood-chip concrete shuttering blocks 

Description  Value Unit 

Wood-chip concrete shuttering blocks with core 
concrete 

100 Years 

 

2.7 End-of-life stage 

2.7.1 Re-use and recycling 

The product cannot be re-used because it cannot be dismantled in a non-destructive way. Recycling at the end of the product 

life cycle would be conceivable but, on account of the high expense required for separating the building component layers 

and subsequent processing, this is not carried out. 

2.7.2 Disposal 

The product can be stored in construction waste landfills after the demolition of the building.  

  













Page 13 of 49 

Table 13: Parameters to describe the waste categories of the product N 15 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.49E-04 2.20E-05 1.54E-04 0.00E+00 6.19E-06 2.74E-05 0.00E+00 1.55E-05 

NHWD  kg 4.94E-01 1.38E-01 1.78E+00 0.00E+00 7.94E-03 1.72E-01 0.00E+00 2.13E+02 

RWD kg 2.77E-04 3.26E-05 4.00E-04 0.00E+00 6.20E-06 4.05E-05 0.00E+00 3.37E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 14: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

N 15 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

3.3.2 Results of the product N 18 

Table 15: Parameters to describe the impact assessment of the product N 18 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
1.78E+01 1.17E+00 2.33E+01 0.00E+00 1.08E+00 2.22E+00 0.00E+00 1.91E+00 

GWP C 
content  

kg CO2 

equiv  
-4.70E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.00E+01 

GWP total 
kg CO2 

equiv  
-2.92E+01 1.17E+00 2.33E+01 0.00E+00 1.08E+00 2.22E+00 0.00E+00 4.19E+01 

ODP  
kg CFC-
11 equiv  

5.80E-07 1.86E-07 6.43E-07 0.00E+00 1.34E-07 3.52E-07 0.00E+00 5.72E-07 

AP  
kg SO2 

equiv  
2.76E-02 4.50E-03 4.46E-02 0.00E+00 8.27E-03 8.52E-03 0.00E+00 1.13E-02 

EP  
kg PO43- 
equiv  

1.92E-02 1.20E-03 2.83E-02 0.00E+00 1.93E-03 2.27E-03 0.00E+00 2.78E-03 

POCP  
kg C2H4 

equiv  
5.47E-03 6.19E-04 7.10E-03 0.00E+00 9.78E-04 1.17E-03 0.00E+00 2.05E-03 

ADPE  
kg Sb 
equiv  

6.71E-06 3.24E-06 1.26E-05 0.00E+00 1.71E-07 6.13E-06 0.00E+00 2.05E-06 

ADPF MJ Hu 1.05E+02 1.72E+01 1.37E+02 0.00E+00 1.48E+01 3.26E+01 0.00E+00 4.75E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic depletion 
potential for fossil resources  

 

  



Page 14 of 49 

Table 16: Parameters to describe the resource use of the product N 18 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  1.50E+01 2.45E-01 9.28E+00 0.00E+00 5.98E-02 4.64E-01 0.00E+00 3.84E-01 

PERM  MJ Hu 4.47E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  4.62E+02 2.45E-01 9.28E+00 0.00E+00 5.98E-02 4.64E-01 0.00E+00 3.84E-01 

PENRE  MJ Hu 1.35E+02 1.82E+01 1.88E+02 0.00E+00 1.52E+01 3.45E+01 0.00E+00 4.99E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 1.35E+02 1.82E+01 1.88E+02 0.00E+00 1.52E+01 3.45E+01 0.00E+00 4.99E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 7.29E-02 6.67E-04 4.31E-02 0.00E+00 3.04E-04 1.26E-03 0.00E+00 5.07E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; 
PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = 
Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh 
water  

Table 17: Parameters to describe the waste categories of the product N 18 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.28E-04 1.83E-05 2.03E-04 0.00E+00 7.82E-06 3.46E-05 0.00E+00 1.96E-05 

NHWD  kg 4.16E-01 1.15E-01 2.51E+00 0.00E+00 1.00E-02 2.17E-01 0.00E+00 2.69E+02 

RWD kg 2.37E-04 2.70E-05 5.63E-04 0.00E+00 7.83E-06 5.12E-05 0.00E+00 4.25E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 18: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

N 18 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

  



Page 15 of 49 

3.3.3 Results of the product N 20 

Table 19: Parameters to describe the impact assessment of the product N 20 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
2.22E+01 1.49E+00 2.42E+01 0.00E+00 1.16E+00 2.41E+00 0.00E+00 2.07E+00 

GWP C 
content  

kg CO2 

equiv  
-5.97E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.07E+01 

GWP total 
kg CO2 

equiv  
-3.74E+01 1.49E+00 2.42E+01 0.00E+00 1.16E+00 2.41E+00 0.00E+00 4.28E+01 

ODP  
kg CFC-
11 equiv  

7.03E-07 2.36E-07 6.71E-07 0.00E+00 1.45E-07 3.81E-07 0.00E+00 6.19E-07 

AP  
kg SO2 

equiv  
3.42E-02 5.71E-03 4.64E-02 0.00E+00 8.94E-03 9.22E-03 0.00E+00 1.23E-02 

EP  
kg PO43- 
equiv  

2.38E-02 1.52E-03 2.95E-02 0.00E+00 2.09E-03 2.46E-03 0.00E+00 3.01E-03 

POCP  
kg C2H4 

equiv  
6.84E-03 7.85E-04 7.38E-03 0.00E+00 1.06E-03 1.27E-03 0.00E+00 2.22E-03 

ADPE  
kg Sb 
equiv  

8.43E-06 4.11E-06 1.31E-05 0.00E+00 1.84E-07 6.63E-06 0.00E+00 2.22E-06 

ADPF MJ Hu 1.28E+02 2.19E+01 1.42E+02 0.00E+00 1.60E+01 3.53E+01 0.00E+00 5.14E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic depletion 
potential for fossil resources  

Table 20: Parameters to describe the resource use of the product N 20 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  1.79E+01 3.11E-01 9.64E+00 0.00E+00 6.47E-02 5.02E-01 0.00E+00 4.15E-01 

PERM  MJ Hu 5.67E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  5.85E+02 3.11E-01 9.64E+00 0.00E+00 6.47E-02 5.02E-01 0.00E+00 4.15E-01 

PENRE  MJ Hu 1.67E+02 2.31E+01 1.96E+02 0.00E+00 1.65E+01 3.73E+01 0.00E+00 5.40E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 1.67E+02 2.31E+01 1.96E+02 0.00E+00 1.65E+01 3.73E+01 0.00E+00 5.40E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 9.22E-02 8.47E-04 4.48E-02 0.00E+00 3.29E-04 1.37E-03 0.00E+00 5.49E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; 
PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF 
= Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh 
water  

Table 21: Parameters to describe the waste categories of the product N 20 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.55E-04 2.32E-05 2.10E-04 0.00E+00 8.46E-06 3.74E-05 0.00E+00 2.12E-05 

NHWD  kg 5.19E-01 1.45E-01 2.61E+00 0.00E+00 1.08E-02 2.35E-01 0.00E+00 2.91E+02 

RWD kg 2.90E-04 3.43E-05 5.86E-04 0.00E+00 8.47E-06 5.54E-05 0.00E+00 4.60E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

 

  



Page 16 of 49 

Table 22: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

N 20 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

3.3.4 Results of the product N 22 

Table 23: Parameters to describe the impact assessment of the product N 22 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
2.18E+01 1.46E+00 2.81E+01 0.00E+00 1.31E+00 2.70E+00 0.00E+00 2.32E+00 

GWP C 
content  

kg CO2 

equiv  
-5.83E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.80E+01 

GWP total 
kg CO2 

equiv  
-3.66E+01 1.46E+00 2.81E+01 0.00E+00 1.31E+00 2.70E+00 0.00E+00 4.04E+01 

ODP  
kg CFC-
11 equiv  

6.90E-07 2.31E-07 7.75E-07 0.00E+00 1.63E-07 4.28E-07 0.00E+00 6.96E-07 

AP  
kg SO2 

equiv  
3.35E-02 5.59E-03 5.37E-02 0.00E+00 1.01E-02 1.04E-02 0.00E+00 1.38E-02 

EP  
kg PO43- 
equiv  

2.33E-02 1.49E-03 3.41E-02 0.00E+00 2.34E-03 2.76E-03 0.00E+00 3.38E-03 

POCP  
kg C2H4 

equiv  
6.69E-03 7.68E-04 8.52E-03 0.00E+00 1.19E-03 1.42E-03 0.00E+00 2.49E-03 

ADPE  
kg Sb 
equiv  

8.25E-06 4.02E-06 1.52E-05 0.00E+00 2.07E-07 7.45E-06 0.00E+00 2.50E-06 

ADPF MJ Hu 1.26E+02 2.14E+01 1.64E+02 0.00E+00 1.80E+01 3.96E+01 0.00E+00 5.77E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic depletion 
potential for fossil resources  

Table 24: Parameters to describe the resource use of the product N 22 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  1.76E+01 3.04E-01 1.12E+01 0.00E+00 7.27E-02 5.64E-01 0.00E+00 4.66E-01 

PERM  MJ Hu 5.55E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  5.72E+02 3.04E-01 1.12E+01 0.00E+00 7.27E-02 5.64E-01 0.00E+00 4.66E-01 

PENRE  MJ Hu 1.64E+02 2.26E+01 2.26E+02 0.00E+00 1.85E+01 4.19E+01 0.00E+00 6.07E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 1.64E+02 2.26E+01 2.26E+02 0.00E+00 1.85E+01 4.19E+01 0.00E+00 6.07E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 9.01E-02 8.28E-04 5.20E-02 0.00E+00 3.70E-04 1.54E-03 0.00E+00 6.17E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; 
PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF 
= Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh 
water  

 

  



Page 17 of 49 

Table 25: Parameters to describe the waste categories of the product N 22 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.52E-04 2.27E-05 2.38E-04 0.00E+00 9.51E-06 4.20E-05 0.00E+00 2.38E-05 

NHWD  kg 5.08E-01 1.42E-01 3.03E+00 0.00E+00 1.22E-02 2.64E-01 0.00E+00 3.27E+02 

RWD kg 2.84E-04 3.36E-05 6.78E-04 0.00E+00 9.51E-06 6.22E-05 0.00E+00 5.17E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 26: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

N 22 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

3.3.5 Results of the product N 25 

Table 27: Parameters to describe the impact assessment of the product N 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
2.76E+01 1.87E+00 3.02E+01 0.00E+00 1.46E+00 3.01E+00 0.00E+00 2.59E+00 

GWP C 
content  

kg CO2 

equiv  
-7.48E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 5.11E+01 

GWP total 
kg CO2 

equiv  
-4.72E+01 1.87E+00 3.02E+01 0.00E+00 1.46E+00 3.01E+00 0.00E+00 5.37E+01 

ODP  
kg CFC-
11 equiv  

8.50E-07 2.96E-07 8.34E-07 0.00E+00 1.81E-07 4.76E-07 0.00E+00 7.75E-07 

AP  
kg SO2 

equiv  
4.21E-02 7.17E-03 5.76E-02 0.00E+00 1.12E-02 1.15E-02 0.00E+00 1.54E-02 

EP  
kg PO43- 
equiv  

2.93E-02 1.91E-03 3.66E-02 0.00E+00 2.61E-03 3.07E-03 0.00E+00 3.76E-03 

POCP  
kg C2H4 

equiv  
8.48E-03 9.85E-04 9.14E-03 0.00E+00 1.32E-03 1.58E-03 0.00E+00 2.77E-03 

ADPE  
kg Sb 
equiv  

1.05E-05 5.16E-06 1.63E-05 0.00E+00 2.31E-07 8.30E-06 0.00E+00 2.78E-06 

ADPF MJ Hu 1.56E+02 2.74E+01 1.76E+02 0.00E+00 2.00E+01 4.41E+01 0.00E+00 6.43E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic depletion 
potential for fossil resources  

 

  



Page 18 of 49 

Table 28: Parameters to describe the resource use of the product N 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  2.13E+01 3.90E-01 1.20E+01 0.00E+00 8.09E-02 6.28E-01 0.00E+00 5.19E-01 

PERM  MJ Hu 7.11E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  7.33E+02 3.90E-01 1.20E+01 0.00E+00 8.09E-02 6.28E-01 0.00E+00 5.19E-01 

PENRE  MJ Hu 2.06E+02 2.90E+01 2.43E+02 0.00E+00 2.06E+01 4.67E+01 0.00E+00 6.75E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 2.06E+02 2.90E+01 2.43E+02 0.00E+00 2.06E+01 4.67E+01 0.00E+00 6.75E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 1.15E-01 1.06E-03 5.58E-02 0.00E+00 4.11E-04 1.71E-03 0.00E+00 6.86E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; PENRT 
= Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of 
renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh water  

Table 29: Parameters to describe the waste categories of the product N 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.88E-04 2.91E-05 2.53E-04 0.00E+00 1.06E-05 4.68E-05 0.00E+00 2.65E-05 

NHWD  kg 6.41E-01 1.82E-01 3.25E+00 0.00E+00 1.36E-02 2.94E-01 0.00E+00 3.64E+02 

RWD kg 3.53E-04 4.30E-05 7.28E-04 0.00E+00 1.06E-05 6.93E-05 0.00E+00 5.75E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 30: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

N 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

  



Page 19 of 49 

3.3.6 Results of the product I 25 

Table 31: Parameters to describe the impact assessment of the product I 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
2.75E+01 1.86E+00 3.38E+01 0.00E+00 1.60E+00 3.30E+00 0.00E+00 2.83E+00 

GWP C 
content  

kg CO2 

equiv  
-7.46E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.95E+01 

GWP total 
kg CO2 

equiv  
-4.71E+01 1.86E+00 3.38E+01 0.00E+00 1.60E+00 3.30E+00 0.00E+00 5.23E+01 

ODP  
kg CFC-
11 equiv  

8.49E-07 2.95E-07 9.32E-07 0.00E+00 1.99E-07 5.22E-07 0.00E+00 8.49E-07 

AP  
kg SO2 

equiv  
4.20E-02 7.15E-03 6.45E-02 0.00E+00 1.23E-02 1.26E-02 0.00E+00 1.68E-02 

EP  
kg PO43- 
equiv  

2.93E-02 1.91E-03 4.10E-02 0.00E+00 2.86E-03 3.37E-03 0.00E+00 4.12E-03 

POCP  
kg C2H4 

equiv  
8.45E-03 9.82E-04 1.02E-02 0.00E+00 1.45E-03 1.74E-03 0.00E+00 3.04E-03 

ADPE  
kg Sb 
equiv  

1.05E-05 5.14E-06 1.83E-05 0.00E+00 2.53E-07 9.09E-06 0.00E+00 3.05E-06 

ADPF MJ Hu 1.56E+02 2.73E+01 1.96E+02 0.00E+00 2.19E+01 4.83E+01 0.00E+00 7.05E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic 
depletion potential for fossil resources  

Table 32: Parameters to describe the resource use of the product I 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  2.13E+01 3.89E-01 1.35E+01 0.00E+00 8.87E-02 6.88E-01 0.00E+00 5.69E-01 

PERM  MJ Hu 7.10E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  7.31E+02 3.89E-01 1.35E+01 0.00E+00 8.87E-02 6.88E-01 0.00E+00 5.69E-01 

PENRE  MJ Hu 2.05E+02 2.89E+01 2.72E+02 0.00E+00 2.26E+01 5.11E+01 0.00E+00 7.40E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 2.05E+02 2.89E+01 2.72E+02 0.00E+00 2.26E+01 5.11E+01 0.00E+00 7.40E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 1.15E-01 1.06E-03 6.26E-02 0.00E+00 4.51E-04 1.87E-03 0.00E+00 7.52E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; PENRT 
= Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of 
renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh water  

Table 33: Parameters to describe the waste categories of the product I 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.88E-04 2.90E-05 2.80E-04 0.00E+00 1.16E-05 5.13E-05 0.00E+00 2.90E-05 

NHWD  kg 6.40E-01 1.82E-01 3.64E+00 0.00E+00 1.49E-02 3.22E-01 0.00E+00 3.99E+02 

RWD kg 3.52E-04 4.29E-05 8.15E-04 0.00E+00 1.16E-05 7.59E-05 0.00E+00 6.31E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

 

  



Page 20 of 49 

Table 34: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

I 25 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

3.3.7 Results of the product I 30 

Table 35: Parameters to describe the impact assessment of the product I 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
2.90E+01 1.97E+00 4.25E+01 0.00E+00 1.95E+00 4.02E+00 0.00E+00 3.46E+00 

GWP C 
content  

kg CO2 

equiv  
-7.89E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.96E+01 

GWP total 
kg CO2 

equiv  
-4.98E+01 1.97E+00 4.25E+01 0.00E+00 1.95E+00 4.02E+00 0.00E+00 5.31E+01 

ODP  
kg CFC-
11 equiv  

8.90E-07 3.12E-07 1.17E-06 0.00E+00 2.43E-07 6.37E-07 0.00E+00 1.04E-06 

AP  
kg SO2 

equiv  
4.42E-02 7.55E-03 8.07E-02 0.00E+00 1.50E-02 1.54E-02 0.00E+00 2.05E-02 

EP  
kg PO43- 
equiv  

3.08E-02 2.01E-03 5.13E-02 0.00E+00 3.49E-03 4.11E-03 0.00E+00 5.03E-03 

POCP  
kg C2H4 

equiv  
8.91E-03 1.04E-03 1.28E-02 0.00E+00 1.77E-03 2.12E-03 0.00E+00 3.71E-03 

ADPE  
kg Sb 
equiv  

1.10E-05 5.43E-06 2.29E-05 0.00E+00 3.09E-07 1.11E-05 0.00E+00 3.72E-06 

ADPF MJ Hu 1.64E+02 2.89E+01 2.45E+02 0.00E+00 2.68E+01 5.90E+01 0.00E+00 8.60E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic 
depletion potential for fossil resources  

Table 36: Parameters to describe the resource use of the product I 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  2.22E+01 4.11E-01 1.69E+01 0.00E+00 1.08E-01 8.40E-01 0.00E+00 6.95E-01 

PERM  MJ Hu 7.50E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  7.72E+02 4.11E-01 1.69E+01 0.00E+00 1.08E-01 8.40E-01 0.00E+00 6.95E-01 

PENRE  MJ Hu 2.16E+02 3.06E+01 3.40E+02 0.00E+00 2.76E+01 6.24E+01 0.00E+00 9.04E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 2.16E+02 3.06E+01 3.40E+02 0.00E+00 2.76E+01 6.24E+01 0.00E+00 9.04E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 1.21E-01 1.12E-03 7.87E-02 0.00E+00 5.50E-04 2.29E-03 0.00E+00 9.18E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; PENRT 
= Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of 
renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh water  

 

  



Page 21 of 49 

Table 37: Parameters to describe the waste categories of the product I 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 1.97E-04 3.06E-05 3.42E-04 0.00E+00 1.42E-05 6.26E-05 0.00E+00 3.54E-05 

NHWD  kg 6.74E-01 1.92E-01 4.57E+00 0.00E+00 1.82E-02 3.93E-01 0.00E+00 4.87E+02 

RWD kg 3.69E-04 4.54E-05 1.02E-03 0.00E+00 1.42E-05 9.27E-05 0.00E+00 7.70E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 38: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

I 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

 

3.3.8 Results of the product TW 30 

Table 39: Parameters to describe the impact assessment of the product TW 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

GWP process 
kg CO2 

equiv  
3.69E+01 2.53E+00 3.54E+01 0.00E+00 1.77E+00 3.65E+00 0.00E+00 3.14E+00 

GWP C content  
kg CO2 

equiv  
-1.01E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.11E+01 

GWP total 
kg CO2 

equiv  
-6.42E+01 2.53E+00 3.54E+01 0.00E+00 1.77E+00 3.65E+00 0.00E+00 7.42E+01 

ODP  
kg CFC-
11 equiv  

1.11E-06 4.00E-07 9.81E-07 0.00E+00 2.20E-07 5.78E-07 0.00E+00 9.40E-07 

AP  
kg SO2 

equiv  
5.58E-02 9.68E-03 6.76E-02 0.00E+00 1.36E-02 1.40E-02 0.00E+00 1.86E-02 

EP  
kg PO43- 
equiv  

3.89E-02 2.58E-03 4.29E-02 0.00E+00 3.17E-03 3.73E-03 0.00E+00 4.57E-03 

POCP  
kg C2H4 

equiv  
1.13E-02 1.33E-03 1.07E-02 0.00E+00 1.61E-03 1.92E-03 0.00E+00 3.37E-03 

ADPE  
kg Sb 
equiv  

1.41E-05 6.97E-06 1.92E-05 0.00E+00 2.80E-07 1.01E-05 0.00E+00 3.38E-06 

ADPF MJ Hu 2.05E+02 3.70E+01 2.06E+02 0.00E+00 2.43E+01 5.36E+01 0.00E+00 7.80E+01 

Legend  

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = 
Acidification potential of land and water; EP = Eutrophication potential; POCP = Formation potential of 
tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil resources; ADPF = Abiotic 
depletion potential for fossil resources  

 

  



Page 22 of 49 

Table 40: Parameters to describe the resource use of the product TW 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

PERE  MJ Hu  2.73E+01 5.27E-01 1.41E+01 0.00E+00 9.82E-02 7.62E-01 0.00E+00 6.30E-01 

PERM  MJ Hu 9.61E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT  MJ Hu  9.89E+02 5.27E-01 1.41E+01 0.00E+00 9.82E-02 7.62E-01 0.00E+00 6.30E-01 

PENRE  MJ Hu 2.73E+02 3.92E+01 2.85E+02 0.00E+00 2.50E+01 5.66E+01 0.00E+00 8.20E+01 

PENRM  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT  MJ Hu 2.73E+02 3.92E+01 2.85E+02 0.00E+00 2.50E+01 5.66E+01 0.00E+00 8.20E+01 

SM  kg  0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF  MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ Hu 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m³ 1.55E-01 1.44E-03 6.56E-02 0.00E+00 5.00E-04 2.08E-03 0.00E+00 8.33E-03 

Legend  

PERE = Renewable primary energy as energy carrier; PERM = Renewable primary energy resources as 
material utilisation; PERT = Total use of renewable primary energy resources; PENRE = Non-renewable 
primary energy as energy carrier; PENRM = Non-renewable primary energy as material utilisation; PENRT 
= Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of 
renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of fresh water  

Table 41: Parameters to describe the waste categories of the product TW 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

HWD  kg 2.45E-04 3.93E-05 2.92E-04 0.00E+00 1.29E-05 5.68E-05 0.00E+00 3.21E-05 

NHWD  kg 8.54E-01 2.46E-01 3.81E+00 0.00E+00 1.65E-02 3.56E-01 0.00E+00 4.42E+02 

RWD kg 4.62E-04 5.82E-05 8.54E-04 0.00E+00 1.29E-05 8.41E-05 0.00E+00 6.98E-05 

Legend  
HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed;  
RWD = Radioactive waste disposed  

Table 42: Parameters to describe the potential of waste treatment and recovery in the end-of-life stage of the product  

TW 30 per m² (ecoinvent 2.2) 

Parameter  Unit  A1-A3  A4  A5  B1-B7 C1  C2  C3  C4  

CRU kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MFR kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

MER kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EEE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

EET MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Legend  
CRU = Components for re-use; MFR = Materials for recycling;  
MER = Materials for energy recovery; EEE = Exported electric energy; EET = Exported thermal energy 

  



Page 23 of 49 

3.4 Interpretation of the LCA results  

3.4.1 Life cycle assessment results of the product N 15 

  
Figure 2: Shares of the individual life cycle stages in the total life cycle assessment of the product N 15 in selected impact 

indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that on average around 40% of the loads in the 

different impact categories come from the stages A1-A3. The effects of the installation stage (A5) are, depending on the 

category, roughly 20-40%. The demolition of the building and the disposal of the declared product play a lesser role.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 24 of 49 

Figure 3: Shares of loads of the product N 15 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 25 of 49 

Figure 4: Shares of loads of the product N 15 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 26 of 49 

3.4.2 Life cycle assessment results of the product N 18 

 

  
Figure 5: Shares of the individual life cycle stages in the total life cycle assessment of the product N 18 in selected impact 

indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that on average around 30% of the loads in the 

different impact categories come from the stages A1-A3. The effects of the installation stage (A5) are, depending on the 

category, roughly 25-45%. The demolition of the building plays a lesser role. The loads at the landfill contribute around 5-20% 

to the overall life cycle assessment.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 27 of 49 

Figure 6: Shares of loads of the product N 18 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 28 of 49 

Figure 7: Shares of loads of the product N 18 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 29 of 49 

3.4.3 Life cycle assessment results of the product N 20 

 

  
Figure 8: Shares of the individual life cycle stages in the total life cycle assessment of the product N 20 in selected impact 

indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, on account of the larger concrete volume, the 

production of the filling concrete has the biggest effects on the life cycle assessment in most categories. On average around 

35% comes from the stage A1-A3. The demolition of the building plays a lesser role. The loads at the landfill contribute up to 

20% to the overall life cycle assessment. 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 30 of 49 

Figure 9: Shares of loads of the product N 20 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 31 of 49 

Figure 10: Shares of loads of the product N 20 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 32 of 49 

3.4.4 Life cycle assessment results of the product N 22 

 

  
Figure 11: Shares of the individual life cycle stages in the total life cycle assessment of the product N 22 in selected 

impact indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, on account of the high concrete volume, the 

production of the filling concrete has the biggest effects on the life cycle assessment in most categories. On average around 

30% comes from the stage A1-A3. The demolition of the building plays a lesser role. The loads at the landfill contribute up to 

20% to the overall life cycle assessment. 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 33 of 49 

Figure 12: Shares of loads of the product N 22 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 34 of 49 

Figure 13: Shares of loads of the product N 22 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 35 of 49 

3.4.5 Life cycle assessment results of the product N 25 

 

  
Figure 14: Shares of the individual life cycle stages in the total life cycle assessment of the product N 25 in selected 

impact indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, on account of the high concrete volume, the 

production of the filling concrete has the biggest effects on the life cycle assessment in most categories. On average around 

30% comes from the stage A1-A3. The demolition of the building plays a lesser role. The loads at the landfill contribute up to 

20% to the overall life cycle assessment.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 36 of 49 

Figure 15: Shares of loads of the product N 25 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 37 of 49 

Figure 16: Shares of loads of the product N 25 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 38 of 49 

3.4.6 Life cycle assessment results of the product I 25 

 

  
Figure 17: Shares of the individual life cycle stages in the total life cycle assessment of the product I 25 in selected impact 

indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, on account of the high concrete volume, the 

production of the filling concrete has the biggest effects on the life cycle assessment in most categories. On average around 

30% comes from the stage A1-A3. The demolition of the building plays a lesser role. The loads at the landfill contribute up to 

20% to the overall life cycle assessment. 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 39 of 49 

Figure 18: Shares of loads of the product I 25 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 40 of 49 

Figure 19: Shares of loads of the product I 25 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 41 of 49 

3.4.7 Life cycle assessment results of the product I 30 

 

  
Figure 20: Shares of the individual life cycle stages in the total life cycle assessment of the product I 30 in selected impact 

indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, on account of the high concrete volume, the 

production of the filling concrete has the biggest effects on the life cycle assessment in most categories. On average around 

25-30% comes from the stage A1-A3. The demolition of the building plays a lesser role. The loads at the landfill contribute up 

to 25% to the overall life cycle assessment.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 42 of 49 

Figure 21: Shares of loads of the product I 30 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 43 of 49 

Figure 22: Shares of loads of the product I 30 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site.  

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 44 of 49 

3.4.8 Life cycle assessment results of the product TW 30 

 

  
Figure 23: Shares of the individual life cycle stages in the total life cycle assessment of the product TW 30 in selected 

impact indicators 

 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood and the carbonation of 

the concrete at the landfill); ODP = Depletion potential of the stratospheric ozone layer; 

AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

Examining the ecological indicators over the entire life cycle illustrates that, in most categories, the manufacture of the filling 

concrete and the production of the wood-chip concrete shuttering block make roughly the same contribution to the 

ecological indicators. The demolition of the building plays a lesser role. The loads at the landfill contribute up to 20% to the 

overall life cycle assessment.  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

C4

C2

C1

B1-B7

A5

A4

A1-A3



Page 45 of 49 

Figure 24: Shares of loads of the product TW 30 during the product stage (A1-A3) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage of wood); ODP = Depletion 

potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication 

potential;   

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

In the product stage the ecological effects are mainly caused by the production of the used cement. The transport of the 

substances has a significant effect only in the categories ozone depletion potential and abiotic depletion potential. The energy 

input required to manufacture the declared product hardly plays a role in the life cycle assessment. 

 

  

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Thermal energy

Electric energy

Infrastructure

Transport

Wood-chips

Cement



Page 46 of 49 

Figure 25: Shares of loads of the product TW 30 during the installation stage (A5) 

  
 

Legend 

GWP = Global warming potential (without consideration of the CO2 storage); ODP = Depletion potential of 

the stratospheric ozone layer; AP = Acidification potential of land and water; EP = Eutrophication potential;  

POCP = Formation potential of tropospheric ozone; ADPE = Abiotic depletion potential for non-fossil 

resources; PERE = Renewable primary energy as energy carrier; PENRE = Non-renewable primary energy as 

energy carrier 

 

The loads in the installation stage are nearly entirely caused by the production of the filling concrete. A small part comes from 

the transport of the blocks from the manufacturer to the building site and from the transport of the filling concrete from the 

concrete plant to the building site. 

 

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

GWP ODP AP EP POCP ADPE PERE PENRE

Normal concrete

Transport

Reinforcing steel



Page 47 of 49 

4 Dangerous substances and emissions into indoor air and environment 

 

4.1 Declaration of substances of very high concern 

Table 43: Declaration of substances of very high concern 

Properties of hazardous materials as per EC Regulation 1272/2008 (CLP 
Regulation)  

Chemical term  
 (CAS Number)  

Carcinogenic Cat. 1A or 1B (H350, H350i):  No such substances contained in the 
product 

Mutagenic Cat. 1A or 1B (H340):  No such substances contained in the 
product 

Toxic for reproduction Cat. 1A or 1B (H360F, H360D, H360FD, H360Fd, 
H360Df):  

No such substances contained in the 
product 

PBT (persistent, bioaccumulative and toxic) (REACH, Annex XIII):  No such substances contained in the 
product 

vPvB (very persistent and very bioaccumulative) (REACH, Annex XIII):  No such substances contained in the 
product 

Substances of very high concern (SVHC):  No such substances contained in the 
product 

4.2 Formaldehyde emissions 

There are no requirements regarding formaldehyde emissions for launching the product on the market. 

4.3 Radioactivity 

A sample of the wood-chip concrete shuttering block was examined for radioactivity by TÜV SÜD Industrie Service GmbH 

(Test report no. G 7110 001 for gamma-spectrometric measurements, from 25.04.2016). 

Table 44: Result of the radioactivity measurement 

Description  Value  Limit  

Gamma-spectrometric measurement 
and evaluation of the chemical formula 
as per OENORM S 5200 

0.055 1 

 

4.4 Leaching 

No measurements for leaching are required for launching the product on the market. 

 



http://cml.leiden.edu/software/data-cmlia.html
http://www.ibo.at/documents/LCA_Methode_Referenzdaten_kurz.pdf


Page 49 of 49 

 

  
Publisher 
 
Bau EPD GmbH 
Seidengasse 13/3 
1070 Vienna 
Austria  
 

 
 
 
Tel +43 (1)997 41 11 
Mail office@bau-epd.at 
Web www.bau-epd.at 

 

 
Programme operator 
 
Bau EPD GmbH 
Seidengasse 13/3 
1070 Vienna 
Austria  
 

 
 
 
 
Tel +43 (1)997 41 11 
Mail office@bau-epd.at 
Web www.bau-epd.at 

 

 

 
Author of the life cycle assessment 
 
IBO Österreichisches Institut 
für Bauen und Ökologie GmbH  
Alserbachstraße 5/8 
1090 Vienna 
Austria  

 
 
 
Markus Wurm/Philipp Boogman 
Tel +43 (1) 319 20 05-14 
Fax +43 (1) 319 20 05-50  
Mail markus.wurm@ibo.at 
Web www.ibo.at 
 

 

 
Owner of the declaration 
 
ISOSPAN Baustoffwerk GmbH 
Madling 177 
5591 Ramingstein 
Austria  
 

 
 
 
Tel  +43 (0) 6475 251-0 
Fax +43 (0) 6475 251-19 
Mail  info@isospan.at 
Web  http://www.isospan.eu 

   

mailto:office@bau-epd.at
mailto:office@bau-epd.at
http://www.ibo.at/
mailto:info@isospan.at

